
 

    

 

Q1 Find (a) limit: 
0

cos

cosx

x x x
Lim

six x


(b) 

2

2

7 10
lim

2
x

x x

x


 


 

Q.2 (a) At what point(s) the function y=  
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(b) Using the chain rule, find  
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Q.3 (a) Using quotient rule, find 
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dy
where

2

1

1

x
y

x





 

  (b) Using product rule, find
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dy
 where
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Q.4 (a)Using derivative as a slope find line that are tangent and normal to the following curve at the given  

                 point. 2 2 9, ( 1, 3)x y    

   (b) Evaluate the integral (i)  2 2 51
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Q.5  (a)Evaluate the integral (i) 
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(b) Evaluate the integral 
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x  by using substitution      

Q.6  (a)Evaluate the following integral by using the given substitution  
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3 4 41 , 1x x dx substitute u x    

(b)Evaluate the integral
  
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dx

x x  Using partial fraction        

Q7.  (a)  Evaluate the integral using by parts formula: xxe dx  

   (b)Find the absolute maximum and minimum values of    2 1 1,2f x x on    

 

Q8. (a)Find the area of the region between the x-axis and the graph of  f(x) =  2 2 , 2 2x x where x      

(b) Find
dx

dy
, where    xxxy seccossin   

 

 


